FIRST TERM GLOBAL TEST

4° £SO

Exercise 1: (2 ptos) Work out:

a

b)

25-x'20

-5,-3)u(L5
x2+2x—3>0} = mela)ui]

(x—-4)2 —Sx<x*+3x-1 > xe(%,m)

Exercise 2: (2 ptos)

a) Workout: Jx+3++4/x—-1=2 — x=1

S4B
b) Rationalize and simplify if possible: —=——==4—4/15
) implify if p NN Jis
Exercise 3: (2.5 ptos) Work out:
x? =5y =31 (6,1)
a) —
=6 (—6,—1)
xX*+2)* =57 (-7.2) (-7.-2)
x—y*=-11 (5.4) (5.-4)

Exercise 4: (1.25 ptos) Work out using the properties of logarithms:

Y25-625 89

log. \/STI s

Exercise 5: (2.25 ptos) Work out:

a)

2x x-3 _x'-1 _2¢-12x-2
x+1 x-5 x'—-4x-5 x'—-4x-5

x2—7x+6_5x2—5x_ 5x
¥ =2x+1 x*-36 x+6
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